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English world — 4" grade
Second Exam — First Semester 2016/2017

Read carefully then answer the questions : (6 marks )

The Albatrosses have the longest wings in the world
and it can fly 400 kilometers in a day . Albatrosses can
grab fish from the sea easily because they have hooked
beaks . They can dive under water and some of them can
dive down 12 meters.

Albatrosses live for 50-60 years . Unfortunately, these
beautiful birds are in danger. Fishing boat pull huge nets
through the ocean . The nets trap many albatrosses when
they dive in water and the birds drown. More than 100,000
albatrosses die in this way every year.

%E Part one : Comprehension
-
-
-
-
-

Y4

s

N

Z

L 4

b /.
4///
m Q1 : answer the Questions : /%
A _ y /
% 1- How long can albatrosses fly in a day ? Pk %
% 2- What do albatrosses eat? ‘ ys /?é
% 3- Why are Albatrosses in danger? ’J g
4- The underlined pronoun (They) ) refers to : Vg
% 5- Find out :
i
Anoun: ...........oeeeeee. Adverb: ...................
An adjective @ ...l A simple presentverb : ...................
g
% 6- A word which means:( to take something quickly ) : ..................
i

.
.
.
.
.
Z
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7- Write True or False :
1- Albatrosses live for 50-60 years . ( )
2- Albatrosses can't grab fish from the sea easily . ( )
Part Two : Vocabulary (3 marks )

0Q1- Write the verb next the following definitions :

1) todieinwater: ..............coooiiinnnn
2) to make an egg come out: .......ccceeeviniinnnnn...

Q2- Complete the sentences with suitable words : ”

( cygnet , webbed , clock, disappeared )

%
.
.
.
.
.

srrsSssssssIIIIPs s

1) Red Riding Hood put on herred.............. with a hood.
% 2) Thewolf................ into theist-est.
» 2). Al BEESWAN IS 8 ...........c..ooc e | | ///§
A\ 4) Water birds have ................... feet so they can swim quickly . Y
A\ Y
/4
4 Part Three : Grammar : (Tmarks ) /%
% Q1 : Correct the words between brackets : <
% 1) The box is too heavy, | couldn’t ................... it (life)
2) Dad................... a book. (read) Y/
3) i they listening ? (be )
4) The mouse is............... than the horse. (small)
Y/
% Q2- Join the two sentences using ( because , so) &
% 1- Anna didn't go to school yesterday. She was ill. (because)
_______________________________________________________________________ Vg
% Vg

77
77
77
77
77
77
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Bread head read spread beak

04- Choose the correct answer :

The boyisn't ....................... the girl . (as’happy as , as happier as)

"Where are you going today?" asked the wolf.(Reporting clause’ direct
speech)

The goose .................... than gosling. (beautiful)

The word penguin how many syllable? (2, 3)

%E Q3-Circle the words that have the same pronunciation:
-
-
-
-
-

Y4
X

Z
Z
Z

s
s

s 4

N

Y4

Y4

Best wishes

@W@%@%@
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